Контрольная работа №3
Вариант 1
1. Вычислите:
204х1000                        60х100
17х1000                          900х100
344х10                            301х100
508х1000                        100х1000
2. Вычислите:
24000:100                       24000:1000                
30000:10                         30000:100                  10000:1000                     47000:10
1000:100                          1000:1000                  470000:100
3. Вычислите:
100х(64787-64687)
(70333+9667):10

4. Выполните деление с остатком.
276:10                             2402:100      
1250:100                         39816:10
31005:1000                     27112:10

Контрольная работа №3
Вариант 2
1. Вычислите:
903х1000                                47х1000
7000х10                                  810х1000
80х1000                                  660х100
35х1000                                   909х100
2. Вычислите:
21000:100                            21000:1000                 32000:1000                          24000:10
80000:10                              80000:100                    1000:10                                 100:100                        
100000:1000                        
3. Вычислите:
100:(42567-42557)
(5387+213)х10

4. Выполните деление с остатком.
623:10                            4007:100
3106:100                        74206:10
50031:1000                    28418:100

